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Section I Vocabulary

Directions:

There are 20 incomplete sentences in this section. For each sentence there are four choices marked A, B, C and D. Choose the one that best completes the sentence and mark your answers on ANSWER SHEET 1. (10 points)

1. You can use the Course Calendar to help __________ your students of important dates in the course, such as test dates.

	[A] warn     
	[B] remind     
	[C] convince     
	[D] deprive      


2. He went ahead __________ all warnings about the danger of his mission.

	[A] in case of      
	[B] because of       
	[C] regardless of    
	[D] prior to    


3. We object __________ punishing a whole group for one person’s fault.

	[A] against      
	[B] about              
	[C] to        
	[D] for           


4. Jack is good, kind, hard-working and intelligent; __________, I can’t speak too highly of him.

	[A] as a result    
	[B] in a word            
	[C] by the way    
	[D] on the contrary   


5. The man to whom we handed the forms pointed out that they had not been ________ filled in.

	[A] consequently    
	[B] regularly        
	[C] comprehensively      
	[D] properly    


6. I shall have a companion in the house after all these __________ years.

	[A] single     
	[B] sole       
	[C] alone               
	[D] lonely   


7. After a long and exhausting journey, they arrived__________.

	[A] till the last   
	[B] at last      
	[C] by the end          
	[D] at the end   


8. None of the servants were __________ when Mr. Smith wanted to send a message.

	[A] available    
	[B] approachable     
	[C] attainable    
	[D] applicable     


9 I can’t __________ what that object is.

	[A] make up    
	[B] make over   
	[C] make out     
	[D] make for     


10. I want to buy a new tie to __________ this brown suit.

	[A] go into        
	[B] go after      
	[C] go with     
	[D] go by        


11. The newest satellite can __________ a thousand telephone conversations and a color TV program at the same time.

	[A] carry     
	[B] extend            
	[C] bring    
	[D] take     


12. I can __________ some noise while I’m studying, but I can’t stand loud noises.

	[A] come up with     
	[B] catch up with   
	[C] put up with    
	[D] keep up with   


13. When the whole area was __________ by the flood, the government sent food there by helicopter.   

	[A] cut across     
	[B] cut down        
	[C] cut up        
	[D] cut off


14. Do you think there’s any __________ of him passing the exam? 

	[A] chance      
	[B] opportunity      
	[C] occasion      
	[D] expectancy    


15. Some Americans ___________ China for the trade imbalance.

	[A] accused     
	[B] charged     
	[C] blamed     
	[D] complained   


16. My cousin Mary is often in a poisonous mood; I suppose it’s because she is__________ child.

	[A] one      
	[B] a unique     
	[C] a single      
	[D] an only     


17. When the crowd saw the prize-fighter stretched out on the canvas, shouts and cheers ________ from it.    

	[A] broke up     
	[B] broke forth     
	[C] broke through     
	[D] broke upon


18. Outside my office window, there is a fire __________ on the right.

	[A] ladder     
	[B] escape     
	[C] steps     
	[D] stairs     


19. I simply cannot understand why ___________ humans have gone computer-mad

	[A] intelligent    
	[B] efficient   
	[C] proficient     
	[D] diligent


20. you have to ________ the cost of the new system against the benefits it will bring.

	[A] evaluate     
	[B] value    
	[C] weigh    
	[D]distinguish


Section II Cloze

Directions:
Read the following passage. For each numbered blank there are four choices marked A, B, C and D. Choose the best one and mark your answer on ANSWER SHEET 1. (15 points)

    Business and movement leaders also consider the inflation rate to be an important general indicator. Inflation is a period of increased   21   that causes rapid rises in prices.   22   your money buys fewer goods so that you get    23   for the same amount of money as before, inflation is the problem. There is a general rise   24   the price of goods and services. Your money buys less. Sometimes people describe inflation as a (n)   25   when “a dollar is not worth a dollar anymore”.

    Inflation is a problem for all consumers. People who live on a fixed income are hurt    26   . Retired people, for instance, cannot    27   on an increase in income as prices rise. Elderly people who do not work face serious problems in stretching their incomes to    28    their needs in time of inflation. Retirement income    29    any fixed income usually does not rise as fast ms prices. Many retired people must cut their spending to    30   up with rising prices. In many cases they must stop   31   some necessary items, such as food and clothing.

    Even   32   working people whose incomes are going up, inflation can be a problem. The cost of living goes up, too. People who work must have even more money to keep up their standard of living. Just buying the things they need costs more. When   33   do not keep pace with rising prices, the standard of living goes down. People may be earning the same amount of money, but they are not living as   34    because they are not able to buy as many goods and services. Government units gather information about prices in our economy and publish it as price indexes   35   which the rate of change can be determined. 
21. [A] spending
[B] demanding
[C] presuming
[D] saving

22. [A] Because
[B] As
[C] Since
[D] When

23. [A] much
[B] little
[C] more
[D] less

24. [A] in
[B] on
[C] at
[D] to

25. [A] chance
[B] time
[C] moment
[D] occasion

26. [A] best
[B] least
[C] most
[D] worst

27. [A] rely
[B] rest
[C] depend
[D] count

28. [A] meet
[B] obtain
[C] care
[D] acquire

29. [A] or
[BI and
[C] excluding
[D] including

30. [A] live
[B] catch
[C] put
[D] keep

31. [A] buy
[B] buying
[C] bought
[D] to buy

32. [A] for
[B] to
[C] of
[D] if

33. [A] costs
[B] incomes
[C] inflations
[D] goods

34. [A] usual
[B] well
[C] before
[D] such

35. [A] in
[B] from
[C] of
[D] by
Section III Reading Comprehension

Directions:
Read the following five passages. Answer the questions below each passage by choosing A, B, C and D. Mark your answer on ANSWER SHEET 1. (40 points)

Passage 1

    If people were as orderly and altruistic (利他的) as ants, walking down a crowded street would not be such a battle. By filling into three lanes, army ants in Panama come close to achieving the maximum possible rate of traffic flow.
    To find out how they get to be so organized, Jain Couzin of Princeton University in New Jersey and British-based researcher Nigel Franks from the University of Bristol filmed 226 army ants over 1:1 centimeters of trail, and watched how they changed direction if they bumped into a fellow worker. They found that the ants returning home to the nest weighed down with food deviated（偏离）less when bumped, while unburdened ants heading away from the nest tended to get out of the way. That meant the returning ants ended up in a central lane flanked （在...的侧面）on either side by ants’ route to the food.

    The team developed a computer model of this behavior, and found that the overall efficiency of the ants’ journey is highly dependent on the size of the difference in mobility between outgoing and incoming members of the hunting party. If all the ants were behaving in roughly the same way when bumped, the three-lane traffic system would break down and everyone would get to their destination more slowly.

    In fact the ants’ behavior comes very close to achieving the fastest possible rate of traffic flow. That could simply be coincidence, says Couzin, although he suspects they probably evolved this way. Since the ants are all closely related, it benefits them to behave in a way that helps the entire colony. That’s very different from people, who behave selfishly when they are trying to get about. 

The results don’t mean a three-lane system is best for people, however. Without the restrictions of being blind or following a pheromone trail, we do better in two lanes.

36. Compared with ants, people __________.

    [A] are more orderly and altruistic

    [B] have more crowded streets

    [C] are more selfish when going about

    [D] have the maximum possible rate of traffic flow

37. We learn from the passage that the outgoing ants travel on _____________.

    [A] the right lane

    [B] the left lane

    [C] the middle lane

    [D] either the right or the left lane

38. Which of the following statements is TRUE according to the passage?

    [A] Ants with burden get more privilege.

    [B] 3-lane traffic enables the fastest traffic flow.

    [C] if all the ants acted the same way when bumped, they’d move faster.

    [D] Ants’ efficient traffic system is not a coincidence at all.

39. What does the author of the passage imply in the last paragraph?

    [A] We should change our present roads into 3-lane ones.

    [B] People have more advantages than ants.

    [C] People should learn to use pheromone trails.

    [D] The results from the experiment are unreliable.
Passage 2

    When, 20-year-old Phyllis Burn succumbed to flu during the great pandemic (大范围流行病) of 1918, she was just one victim out of an estimated 25 million across the world. But her wealthy family’s decision to bury her in an expensive, lead-lined coffin (棺材) will help a present-day virologist（病毒学家）in his quest to understand what turns an ordinary flu virus into a killer.

    It’s known that Phyllis spent her final days in a house a street away from the family home, perhaps because she was afraid of infecting her nearest and dearest. On 30 October she took her last breath. It was at the height of the flu epidemic, and some victims were being buried in cardboard coffins or simply wrapped in newspaper. But Phyllis’s family could afford the best that money could buy.

    John Oxford, a virologist at Queen Mary’s School of Medicine in London, is glad they did. He’s been searching for preserved samples of the 1918 flu virus for several years. The hope is that sequencing the genome（基因组）of the flu that caused the worst pandemic in recorded history will help to arm ourselves against future outbreaks. After scanning over thousands of burial records in London from autumn 1918, Oxford came upon Phyllis.

A lining of lead makes a coffin (棺材) airtight, and that can keep a corpse（尸体）in near-perfect condition for 150 years. “She died young and had been in good health before succumbing to the virus.” he says. He hopes to isolate the complete virus genome from Phyllis’s lungs and then sequence it to look for clues to its virus.

    Oxford has permission from Burn family descendants and is now awaiting the go-ahead from church and health authorities to exhume the body. The team will have to take biohazard cautions, just in case there is still live virus around. “To have a complete body is unusual. It will be the first time,” says Oxford, “we don’t expect to find live virus and no one expected to find well-preserved bodies in lead coffins, either”.

40. The passage tells us that the great pandemic of 1918 __________.

    [A] killed Phyllis Burn and all her family

    [B] killed about 25 million people in Britain

    [C] brought great fortune to Burn’s family

    [D] stemmed from an ordinary flu virus

41. Phyllis Bum was buried in lead-lined coffin because __________.

    [A] her family was rich enough to afford it

    [B] her family wanted to preserve her body for future medical research

    [C] cardboard coffins and newspapers were in short supply

    [D] her family were afraid that her body might continue to spread virus

42. Which of the following is the purpose of John Oxford’s investigation on Phyllis’ body?

    [A] It is to learn how to preserve a body for long.

    [B] It is to find out the virus that killed her.

    [C] It is to see why she died so young.

    [D] It is to predict future outbreak of similar epidemic.

43. John Oxford is now sure that __________.

    [A] there is live virus in Phyllis’ body.

    [B] the body is well-preserved

    [C] the Burn descendents will support his action

    [D] the Church will grant him permission soon.

Passage 3

    The world is full of new horrors and there’s no place to hide. Who says so? Disaster psychologists, for a start. They are the people who take in the big picture of our collective reactions to human-created disaster, the ways these reactions are caused, and our coping mechanisms. And research into disaster psychology is growing fast.

    Among the big issues being addressed by these researchers are understanding the terrorists’ weapons, assessing the full impact of terrorism—and, crucially, working out which psychological approaches actually work. It’s a deeply controversial area.

Take the work of Dennis Embry as an example. He argues that we have overlooked the obvious: the purpose of terrorism is to create terror. This works best “if the very symbols of everyday life become conditioned fear and anxiety stimulant”. The top targets will be the most symbolic of a nation’s daily life, preferably served up for prime-time television. Crashing planes from United and American Airlines into the Twin Towers and the Pentagon from 8: 46 am on met those objectives all too perfectly. After the attacks, people stopped flying. Why? Not because they had made a rational risk assessment but because the mere thought of flying made their palms sweat.

    From terrorism to rail crashes, counseling and “debriefing” (盘问) are the standard response to help those caught up in disasters. But there are growing doubts about their effectiveness. What might be going wrong? Debriefing focuses on getting people to talk through the trauma and its emotional consequences soon after the incident. Could it be that some people are better off distancing themselves from what happened, rather than reliving it?

    If disaster psychologists want to find better ways to help, they’ll have to win the race between our understanding of human psychology and the terrorists’.

44. Disaster psychology refers to the study of how to __________.

    [A] avoid human-created disasters

    [B] cope with human reactions to disasters

    [C] reduce the worst natural disasters

    [D] prevent growing terrorism

45. The passage tells us that disaster psychology is __________.

    [A] a highly controversial area

    [B] a well-established science

    [C] not associated with terrorism

    [D] not a part of scientific study

46. According to Dennis Embry, how do terrorists reach their goals?

    [A] By overlooking the most obvious of everyday life.

    [B] By setting up new symbols for a nation's daily life.

    [C] By turning symbols of everyday life into fear and anxiety stimulant.

    [D] Through hijacking big planes from the most famous international airlines.

47. Counseling and debriefing may not be effective methods because __________.

    [A] there is fierce controversy in this area

    [B] many research have proved this

    [C] some people may hide their true feelings

    [D] some people may feel better to forget the disaster

Passage 4

    Feeling unsteady on your feet? Vibrating（震动） shoes that use random noise to amplify（放大）subtle signals to the brain could keep you upright.

    When someone leans or sways to one side, pressure on the soles of the feet increases on that side. Normally the nervous system detects these changes and automatically corrects posture. But some people, particularly the elderly, have trouble picking up these signals and sway much more than normal even when they think they are standing still.
    Jim Collins and his colleagues at Boston University wondered if such people could benefit from “Stochastic resonance”—an effect that makes a weak signal easier to detect when it is superimposed on a background of random noise. The team built a randomly vibrating platform and asked volunteers to stand on it. They hoped the vibrations would amplify the cues coming from people’s feet and help them stay steady.

    Sure enough, people swayed several millimeters less in each direction when the platform was gently vibrating, even though they couldn’t consciously sense its movement. This is about the same as the difference between elderly volunteers and people in their twenties.
    Increasing the information coming from the soles of the feet helps to improve balance control, concludes Collins, who has submitted the finding to Physical Review Letters. The nervous system soon learns to ignore regular signals, so the technique only works if the information coming in is genuine noise.

    Other researchers have suggested that the nervous system generates its own noise to help with tasks such as balancing a stick on the end of the fingertips. But Collins’s group is the first to show that artificially adding random signals can boost balance. Collins now hopes to develop a vibrating insole that unstable walkers could wear in their shoes. But he hasn’t yet worked out how to power them efficiently without heavy battery packs.

48. Which of the following might be the best title for this passage?

    [A] How to stand upright.

    [B] Get up after falling.

    [C] Walking on shaky shoes.

    [D] Random noise theory.

49. Why do elderly people sway more than normal according to this passage?

    [A] Because they are too old to stand upright.

    [B] Because they can’t pick up signals from the nervous system easily.

    [C] Because their nervous system cannot detect changes on the soles of the feet.

    [D] Because they often think they are standing still when actually they are swaying.

50. Collins’ method proves to be beneficial to ____________.

    [A] people of all ages

    [B] only the elderly people

    [C] people in their twenties

    [D] no people at any age

51. The significant of Collins’ study lies in that it ____________

    [A] emphasizes the importance of information for balancing

    [B] helps to produce genuine noise

    [C] suggests that the nervous system generates its own noise

    [D] shows that artificially adding random signals can improve balance

Passage 5

The discovery that the universe is expanding was one of the great intellectual revolutions of the twentieth century. It is easy to wonder why no one had thought of it before. 

Newton. and others, should have realized that a static（静止的）universe would soon start to contract under the influence of gravity. But suppose, instead, the universe is expanding. If it was expanding fairly slowly, the force of gravity would cause it eventually to stop expanding and then to start contracting. However, if it was expanding at more than a certain critical rate gravity would never be strong enough to stop it, and the universe would continue to expand forever. This is a bit tike what happens when one fires a rocket upward the surface of the earth. If it has a fairly low speed, gravity will eventually stop the rocket and it will start falling back. On the other hand, if the rocket has more than a certain critical speed (about seven miles per second) gravity will not be strong enough to pull it back.，so it will keep going away from the earth forever. This behavior of the universe could have been predicted from Newton’s theory of gravity at any time in the nineteenth, the eighteenth, or even the late seventeenth centuries. Yet, so strong was the belief in a static universe that it persisted into the early twentieth century. Even Einstein, when he formulated the general theory of relativity in 1915, was so sure that the universe had to be (static) that he modified his theory to make this possible, introducing a so-called cosmological constant into his equations. Einstein introduced a new “antigravity” force, which, unlike other forces, did not come from any particular source, but was built into the very fabric of space-time. He claimed that space-time had an inbuilt tendency to expand, and this could be made to balance exactly the attraction of all the matter in the universe, so that a static universe would result.

52 To escape gravity, a rocket must have__________.

    [A] more than seven miles per second

    [B] less than seven miles per second

    [C] exactly seven miles per second

    [D] twice seven miles per second

53. Which of the following statements is true according to the passage?

    [A] The universe is forever expanding slowly.

    [B] The universe would be static but for the attraction of all the matter.

    [C] The universe is not only expanding but also contracting.

    [D] The fact that the universe is could have been by either the theory of gravity or the theory of relativity

54. The word “it” in Line 7 (斜体) refers to ____________

    [A] universe     [B] expanding    [C] contracting    [D] rate

55. The most suitable title of the passage would be: ___________

    [A] The Universe Is Expanding Instead of Being Static

    [B] How Einstein Made the Discovery that the Universe Is Expanding

    [C] The Discovery that the Universe Is Expanding Is Based on the Theory of Gravity

    [D] Why Einstein Once Believed that Universe Was Static
Section IV Translation

Directions:

In this section there is a passage in English. Translate it into Chinese and write your translation on ANSWER SHEET 2 (15 points)

    Another kind of distinction that can be made among works of art is whether they were intended as objects to be looked at or to be used. The fine arts, such as painting and sculpture, involve the production of works to be seen and experienced on an abstract level. Pieces of fine art may inspire emotional or spiritual responses in us. Those who love the fine arts feel that these responses are very valuable, for they expand our awareness of the great richness of life itself.
Section V Writing

Directions:

In this section, you are required to write a composition entitled “More pressure from Academic studies does (or does not) benefit us”. You should write more than 150 words neatly on ANSWER SHEET 2 (20 points)
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